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Navigation Problem Set #1

Abbreviations:

PGC = Per Gyro Compass.  A gyroscopic instrument that always aligns to True North.

PSC = Per Standard Compass.  The Magnetic Compass corrected for Deviation

A Deviation Card which might be valid for these problems.  (Not sure yet)

	      Var =      10 W
      Dev =     0: 2w          30: 3W          60: 2W          90: 1W
              120: 0W         150: 1E         180: 2E         210: 1E
              240: 0W         270: 1W         300: 2W         330: 3W 


	BK
	NBR
	QUESTION
	CHART REFERENCE

	5
	192
	At 2100, Cape Charles Light bears 321°pgc, and Cape Henry Light bears 247°pgc.  Your latitude is __________.
	12221TR

	5
	196
	What magnetic course is the same as 247° true?
	12221TR 

	5
	197
	At 2215, Cape Henry Light bears 242°pgc, Cape Charles Light bears 010.5°pgc, and Chesapeake Channel Tunnel North Light bears 319°pgc.  You are heading 271°pgc.  What is the relative bearing of Thimble Shoal Light?
	12221TR

	5
	199
	You are underway in the vicinity of Block Island and obtain the following lines of position:    Montauk Point Light                                            263°pgc  ; Block Island Southeast Light                               026°pgc ; Radar Bearing to Block Island  Southwest Point 348°pgc;   What is your position at the time of these sightings?
	13205TR

	5
	201
	What course should you steer by your standard magnetic compass to make good a course of 280°T?
	13205TR

	5
	202
	Which statement concerning Montauk Point Light is TRUE?

A) The light comes on at sunset.

B) There is an emergency light if the main light is extinguished

C) The height of the light is 24 feet.

D) The tower is painted with black and white stripes.
	13205TR

	5
	203
	At 1800, your position is LAT 41°06.5'N, LONG 71°43.5'W. How would the buoy which bears 030°T from your position at a range of approximately 0.5 mile be painted?
	TR13205TR

	5
	204
	From your 1800 position you steer a course of 350°psc at a speed of 10.0 knots.  At 1830, your position is LAT 41°11.7'N, LONG 71°45.8'W.  What are the set and drift of the current?
	TR13205TR

	5
	205
	From your 1830 fix, you come left to a course of 290°T.  Which of the following statements concerning Watch Hill Light is FALSE?

A)  The nominal range of its white light is 15 miles.

B) It displays both red and white lights.

C)  Its geographic range is 18.5 miles at a 35 foot (10.7 meter) height of eye.

D)  Its horn blasts every 30 seconds in fog.


	TR13205TR

	5
	206
	At 1850, you obtain the following bearings and distances:    Montauk Point    189°pgc 8.7 miles  ; Watch Hill Light  340°pgc 5.7 miles  ;   What true course did you make good between 1830 and 1850?
	TR13205TR

	5
	212
	If you were to head into Fishers Island Sound, which of the following charts would you switch to for better detail of Mystic and Mystic Harbor?

A) 13209

B) 13212

C) 13214

D) 13215


	TR13205TR

	5
	213
	From your 1915 position, you come left and set a course for Gardiners Point.  At 1930, your position is LAT 41°12.7'N, LONG 71°56.8'W.  What type of bottom is charted at this position?
	TR13205TR

	5
	214
	From your 1930 position, you plot a course to pass 0.5 mile due south of Race Rock Light. If your vessel's speed is 10.0 knots, the current's set and drift are 040°T at 1.8 knots, and a north wind produces a 3° leeway, what true course should you steer to make good your desired course?
	TR13205TR

	5
	215
	As an option to heading into Long Island Sound, you consider anchoring in the vicinity of the Gardiners Point Ruins at the north end of Gardiners Island.   What is the minimum recommended distance from the ruins for fishing, trawling, or anchoring?
	TR13205TR

	5
	217
	Your 1600 position is LAT 37°22.5'N, LONG 75°32.3'W.  The depth of water under the keel is about __________.
	12221TR

	5
	218
	If there is no current, what is the course per gyro compass from your 1600 position to point A located 0.5 mile due east of Hog Island Lighted Bell Buoy "12"?
	12221TR

	5
	219
	At 1630, you reach point A and come right to 204°T.  Your engine speed is 12 knots.  Your 1715, position is LAT 37°09.8'N, LONG 75°37.4'W.  The current was __________.
	12221TR

	5
	221
	At 1815, your position is LAT 37°01.0'N, LONG 75°42.7'W.  If there is no current, what is the course per standard magnetic compass to arrive at a point 0.3 mile due north of North Chesapeake Entrance Lighted Whistle Buoy "NCA" (LL#375)?
	12221TR

	5
	222
	From your 1815 position, you want to make good a course of 263°T.  Your engines are turning RPM's for 12 knots.  The current is 050°T at 1.9 knots.  Adjusting your course for set and drift, at what time should you expect to enter the red sector of Cape Henry Light?
	12221TR

	5
	223
	At 1920, Cape Henry Light bears 225°pgc, and Chesapeake Channel Tunnel North Light bears 288°pgc.  If your heading is 268°T, what is the relative bearing of Chesapeake Light?
	12221TR

	5
	224
	Which statement concerning your 1920 position is TRUE?

A) You are governed by the Inland Rules of the Road.

B) You are entering a restricted area.

C) You are within the Chesapeake Bay Entrance traffic separation scheme.

D) You can expect differences of as much as 6° from the normal magnetic variation of the area.


	12221TR

	5
	225
	From your 1920 position, you change course to enter Chesapeake Channel between bouys 9 and 10.  What is the course per standard magnetic compass (psc) ?
	12221TR

	5
	226
	At 2000, your position is LAT 37°04.1'N, LONG 76°05.6'W. You change course for the Eastern Shore.  At 2037, Old Plantation Flats Light bears 033°pgc, and York Spit Light bears 282°pgc.  The course made good from your 2000 position is __________.
	12221TR

	5
	227
	At 2037, you change course to make good a course of 016°T.  There is no current, but a westerly wind is causing  3° leeway.  What course per standard magnetic compass (psc) should you steer to make good the course 016°T?
	12221TR

	5
	232
	At 0700, Stratford Shoal Middle Ground Light bears 137°pgc.  From your radar, you get a bearing of 007°pgc to the south tip of Stratford Point with a range of 4.5 miles. What is your 0700 position?
	12354TR

	5
	233
	At 0725, you are heading 054°T, and Stratford Point Light is abeam to port at 3.1 miles.  The current is 135°T at 1.8 knots.  If you make turns for an engine speed of 8 knots, which course must you steer to make good 048°T.
	12354TR

	5
	237
	At 0845, you are on a course of 097°T, and Townshend Ledge Buoy "10A" is close abeam to port.  With a westerly current of 1.2 knots, what speed will you have to turn for from your 0845 position in order to arrive abeam of Six Mile Reef Buoy "8C" at 1030?
	12354TR

	5
	238
	At 0910, your DR position is LAT 41°11.9'N, LONG 72°47.8'W.  Your vessel is on course 097°T at 9.5 knots, and the weather is foggy.  At 0915, Branford Reef Light is sighted through a break in the fog bearing 318°T.  At 0945, Falkner Island Light is sighted bearing 042°T.  What is your 0945 running fix position?
	12354TR

	5
	239
	What do the dotted lines around Goose Island and Kimberly Reef represent?
	12354TR

	5
	241
	Little Gull Island Light is __________.

A)  lighted only during daytime when the sound signal is in operation

B)  Lighted throughout 24 hours

C)  maintained only from May 1 to Oct 1

D)  obscured by trees from 253° to 352°


	12354TR

	5
	242
	At 1210, you are in position LAT 41°14.3'N, LONG 72°16.5'W.  What is the depth of water below your keel?
	12354TR

	5
	243
	From your 1210 position, you are making good a course of 083°; T.  Your engines are turning RPMs for 10 knots.  The set and drift of the current are 310° at 1.7 knots.  At what time should you expect to enter the red sector of New London Harbor Light?
	12354TR

	5
	244
	Your vessel is entering New London Harbor Channel.  If there is no current, what should you steer per gyro compass to stay on the range?
	13213?

	5
	245
	On chart 12354, the datum from which heights of objects are taken is __________.
	12354TR

	5
	247
	What type of bottom is found at Long Sand Shoal?
	12354TR

	5
	248
	You are southeast of Saybrook Breakwater Light passing Saybrook Bar Lighted Bell Buoy "8".  This buoy marks __________.
	12354TR

	5
	249
	At 0005, on 26 January, your position is LAT 41°11.8'N, LONG 72°20.5'W.  From this position, you plot a course to steer to Mattituck Breakwater Light "MI" with an engine speed of 9.0 knots.  If there are no set and drift, what course should you steer?
	12354TR

	5
	250
	At 0045, you obtain the following information:     Radar range to Inlet Point is  1.4 miles;   Radar range to Rocky Point is  2.8 miles;   Radar range to Horton Point is 2.8 miles;     What were the set and drift between 0005 and 0045?
	12354TR

	5
	251
	You alter course from your 0045 position to head for Mattituck Breakwater Light "MI".  If the visibility is 10 miles and you make good 9 knots, at what time will you lose sight of Saybrook Breakwater Light?
	12354TR

	5
	252
	At 0100, you obtain the following radar ranges:      Inlet Point  -    2.7 miles;   Rocky Point  - 4.5 miles;   Horton Point -  1.0 mile;     What was the speed made good between 0045 and 0100?
	12354TR

	5
	253
	According to the DR track line from your 0100 position, how far off Roanoke Point Shoal Buoy "5" should you be when the buoy is abeam?
	12354TR

	5
	254
	At 0130, you obtain the following radar ranges:  Horton Point Light -  4.3 miles;   Mattituck Breakwater Light -  3.45 miles;   Duck Pond Point -  2.0 miles;     What were the course and speed made good between 0100 and 0130?
	12354TR

	5
	259
	The south coast of Long Island Sound between Mattituck Inlet and Port Jefferson is __________.

A) composed of high rocky bluffs

B) a high, flat plateau with sheer cliffs

C) ow and marshy with isolated beaches

D)  fringed by rocky shoals


	12354TR

	5
	260
	At 0300, your position is LAT 41°01.7'N, LONG 72°55.1'W. From this position you steer a course of 289° per standard magnetic compass at an engine speed of 10.0 knots.  At what time can you first expect to see Stratford Shoal Middle Ground Light if the luminous range is 8.0 miles?
	12354TR

	5
	261
	You must arrive at your final destination by 0800.  The distance from your 0300 position to the final destination is 40.5 miles.  What minimum speed must be made good to arrive on time?
	12354TR
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